~ CS (MAIN) EXAM, 2010
Sl. No. 9 1 e | B-DTN-K-JSB

POLITICAL SCIENCE AND
INTERNATIONAL RELATIONS

Paper—II1

Time Allowed : Three Hours Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in Hindi and
in English.

Answers must be written in the medium
specifited in the Admission Certificate issued
to you, which must be stated clearly on the
cover of the answer-book in the space
provided -for the purpose. No marks will be
given for the answers written in a medium
other than that specified in the Adrmission
Certificate.

Candidates should attempt Question Nos. 1

and 5 which are compulsory, and any three -
of the remaining questions selecting at least

one question from each Section.

The number of marks carrié_d vby each
guestion is indicatéd at the end of the
guestion. ‘
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Section—A

1. Answer the following in about 200 words

each : 20x3=60
{a) How is the modern comparative politics~
approach different from the traditional
legal-institutional approach?
(b) Examine the changing nature of
security in the recent times.
fc) Explain the meaning and application of
the concept of ‘strategic engagement’.
2. (a) Examine the post-modernist critique of
Realism in international politics. 20
(b) Assess in detail the prospects of
the emergence of a nuclear-weapons-
free world. 40
3. (a) Discuss the different perspectives on
gloebal environment that have emerged
in the context of the Copenhagen
Summit. 20
(b} Critically examine globalisation from a
Third World perspective. 40
4. DBring out your perspectives on the following
in about 200 words each : 20x3=60

(@)

(b)

Plausible aims of the Non-Aligned
Movement in the post-Cold War period

The indications of the emergence of a
global civil society
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1. Foafafiea d @ @5 F v 200 w5t § 3w
s - 20x3=60

() syfs gamtors usHife Iurm fRw yew @
arafs farftes-arenfes arm @ e 27

(@) T« % @ § gean f uiedTeia gwfa @
ey HIf)

(M) ‘TEIRE ey’ i dEean w1 A 3R gy
HHHATIU |

2. (&) ot = A guiedfare Y 3wx-

stryfAwaraE aurersF 1 gdeor Hivm) 20
(@) IRER-Igu-g%  "9R % aTfowia )
WA 1 farargds rehar FHifsm 40

3. (¥) wige e e % ded o Afvas gufam
. IR AT g fafra dewt 9t == Fifs 20

(@) gt =1, dw@ g F Gt @,
guTen=ATeHs giaor it 40

4. Patafge w o uigiswt &) ywe $ifse, I v2@=
ST 200 TS H B 9iEu 20x3=60

() tfa gt swfa d E-few mEem %
AT e (ceAifstas @)

(@) Afaw amie gar (Rafae @ard) & afawfs
& Hhd
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(c)

Should National Interest be viewed as
a constant category or is it situation-
specific?

Section—B

5. Answer the following in about 200 words

each :

(b)

Can Israel be termed a natural ally’ of
India?

Examine India’s response to the Af-Pak
policy of the US.

Bring out the role played by Indian
armed forces in UN peace-keeping
efforts in various parts of the world.

Examine the nature of the issues
currently being debated with the
European Union.

Assess the problemns being faced by
India on account of illegal migration into
the country.

Comment on the recent trends in
Russia’s foreign policy.

“The UN today is more of a social service
organisation than an  exclusively
security-oriented body.” Critically
examine.
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R I R T =

(M = o g N wE R w2 F A W @
ST =T ar o 9w feufa-faRre aar 27

HUg—d

5. FmfeiRae & @ v & anm 200 st § 3=

Afsre - 20x3=60

(F) 91 TS &l UG 1 w@mras B war S
"l 27

(@) Jo WHo H JwNMHGHE-gifrm= A & ufly
WA bl TfRaT w1 giiare Hifem)

(M) wER % fafm wmit # go wo (Bgw TY) *
wiifa-Teror gt § Wil gwe st ¥ g
Fafs & v gt @ s sftre)

6. (=) aﬁmaﬁz;ﬁtﬁaﬁa%mvﬁaafﬁ;qmt%gﬁ
. 1 wRfa =1 ghiggor s

(@) W F IR W-FN 59817 F =W 9yig F any
Iqferd auEIsTl W1 AThRe Hifvney

7. (&) waﬁﬁ‘?m—ﬂﬁtﬁm%ugﬁlﬁm%mﬁ
fafag)

(@) “Fo We (¥TF TY) I ;AW T Y GET-
IgEt Freem B8R & aei w9 99 e
feres 317 woETEEAgdS wlieer $ifdm

20

40

20

40
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8. (a) Bring out India’s perspectives and
concerns on reform in the UN Security
Council.

(b) Would it be to India’s benefit if it were to
pursue a more serious relationship with
South-East Asia? Critically evaluate.
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8. (%) TIwH U Tan giwg § gur 9v 9d & aiasd
g faarent ot g Srieg | 20

(@) =R wra sfaor-od ot & 9y sdamsd st
iy T T SIgETE R, @ T 98 9ARd %
fu e 8T ? gEreeAgds e fifsey 40

:
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TSI o= aen =g wras
TFT-gA—II
g : || e quriss : 300
3T

Sedw 99 fo=at 3 3 @l 9 sur 21

el & I It areym 4 (5@ wra Tiide, Saer sga
3T9F NIFT-97 F far mar &, 3R 59 areyy 7 @y
IPE@ IW-gEaF F Y@-Y8 W 3fEa [ e w
faen s wrfeg) ¥asr-ga 9 3fgfaa #mregg
fafs 311 fFdt uregm ° fo@ g 397 9T &5 IHH
8T faeit

gvT g 1 3% 5 afFard &1 @t vei 7 @ g e
g & HH-B-%FH TH ¥ gAH (a1 a7 g1t &
I gifsray

Tt 997 & fore [Raa 3ie 939 3 3id 4 Ru o &4

Note : English version of the Instructions is
printed on the {rent cover of this
question paper.




